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QUESTION 1

Disk ID is represented in x.y format, where x refers to the _____ and y refers to the _____. 

A. disk ID number, host adaptor 

B. parity disk, data disk 

C. host adaptor, disk ID number 

D. data disk, parity disk 

Correct Answer: C 

 

QUESTION 2

Which one of the following access methods will maintain boot messages across reboots? 

A. SSH 

B. RSH 

C. Telnet 

D. Console 

Correct Answer: D 

 

QUESTION 3

To enable the NetCache appliance to load balance between a pool of Web servers you must _____. 

A. use a router 

B. specify the server IP addresses in the NetCache acceleration rule 

C. configure transparency on the NetCache appliance 

D. write a load balancing ACL 

Correct Answer: B 

 

QUESTION 4

The console password can only be changed via _____ . 

A. floppy disk 

B. the console 
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C. rsh 

D. the Appliance Manager 

Correct Answer: B 

 

QUESTION 5

A(n) _____ VIF combines two physical interfaces into a single virtual interface where traffic is active on both physical
interfaces. 

A. single-mode 

B. multi-mode 

C. cluster-mode 

D. aggregate-mode 

Correct Answer: B 
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